
~-~ 

Q q ct11' cpr Rt ~~ lSI 0 I ~ eLU {..clll 

4.1 !>I 'ttl I c!'"l1 

4.2 !>Ii:{C'd'j cpr RI~clliul 

4.2.1 \.iC{~~1I * 3TltTR lR ~ cpr RI~clt'4UI 

4.2.2 qRCfj(i'lj'iI~ * 3TltTR lR ~ cpr RI~clt'4UI 
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RIE Li
bra
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~ \j~~~[j em fcl~&l tSj°1 .QRI~ICi !>l ollc11 cB- 3lTtIN LR fcnm TfllT % rum en 1 
fclq,,{ol ~ CilfBienl "B ~~II[j1 TfllT % I 

Cil~enl ~.4.1 

311 f&q 1 ttl .wI ~') 01 ~ ~ af3f cB- ~ cpr (>1\$ Fcbll 'j qft firerr ~ mTI 
Ci~cplol cpr fclq,,{ul- 

q'II"UX mx 3l1~ql~1 mlfror ~ 

~ 0/0 ~ % ~ % 

146-157 ~ 4 5.00 12 15.00 35 43.75 

134-145 3TRm ~ 3Tf$p 24 30.00 33 41.25 38 47.50 

122-133 3TRm 37 46.25 27 33.75 7 8.75 

110-121 3TRm ~ Cf)ll 13 16.25 8 10.00 - - 
98-109 f.ikf 2 2.50 - - - - 
m.r 80 100 80 100 80 100 

~lffUT 1. 3t 1 R q 1 '{:fI af3f cB- ~ "B (>I '$ fch 1I 'j ctr fum cB- mTI ~ 
cr~cp'IOI ~ ~ Cf)f w=rrur 46.25 !>lRl~ICi % I TIm ~ ~ Cj?1f ~ f.ik1 
cr~CP10I ~ ~ Cf)f w=rrur ~: 16.25 ~ 2.50 !>lRl~ICi % I TI~ ~ 
~ ~ ~ ~ ~RcCf)lol ~ ~Tf"Cl"CPT Cf)f ".Q1iTUT ~: 30.00 TI~ 5.00 

!>lRl~ICi % I 

~lffUT 2. ~ 141 ° 1 af5r cfi ~ If (>I '$ fchlll ctr fua:rr cB- mTI ~ 
cr~Cf)'IUI ~ ~ CBT w=rrur 33.75 !>lRl~ICi % I TIm ~ ~ Cj?1f ~ f.ik1 

1~Cf)101 ~ ~ CBT w=rrur ~: 10.00 ~ 0.00 !>lRl~ICi % I TIm ~ 
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~ ~ ~ ~ 1~Cf)'IOI ~ ~ Cf)T W1TUf ~: 41.25 c=r:m 15.00 
!:lR1~ld % I 

~a=rur 3. ~ af.?r cB- ~ ~ (>1'$fCb;q'j c#r fua:rr cB- ~ ~ 1~Cf)101 

~ ~ Cf)T w:rrur 8.75 !:lRl~ld % I c=r:m ~ ~ CBll ~ ~ 1~Cf)101 

~ ~ Cf)T w:rrur ~: 00.00 ~ 0.00 >lR1~ld % I c=r:m ~ ~ ~ 
~ ~ 1~Cf)IOI ~ ~ cpr ~ ~: 47.50 c=rm 43.75 >lfct~ld ~ I 

f.'1tibt:T 

(>1 '$ fCb;q'j c#r fuan cB- ~ ~ 1~Cf)101 ~ ~ ~ OiI~ql'{fI af5f 
cB- ~ cpr w:rrur ~ ~ I ~ ~ Cf)l1 ~ ~ 1~Cf)101 ~ 

~ ~ ~ OiI~ql'{fI af.5r cB- ~ cpr ~ ~ % I 3fR:rcf ~ 

~ ~ ~ 1~Cf)101 ~ ~ ~ ~ af.5r cB- ~ cpr ~ 

~ % I ~ (>1;sfCb;q'i c#r man cB- ~ ~ af.5r cB- ~ cpr 

1~Cf)'IOI ~, "-'IllfIOI af.5r cB- ~ cpr 1~Cf)101 ~ ~ ~, c=r:m 
OiI~ql'{fI ~ cB- ~ cpr 1~Cf)IOI ~ % I 

\3G~~lI CPo 2 

Oil ~ q I '{fI, :u Ilfl 0 I ~ ~ af.5r cB- ma=rx ~ cpr (>1 '$ fCb£! 'j c#r man cB­ 

~ 1~Cf)'IOI cpr 31~ ~ I 

~ \j Gq~lI Cf)T Fcl~~6jOI· >lfct~ld >l 0il <:11 ctT '{i6111d I fcnm Tfm % fUj'{iCbI 

Fclq'<OI ~ dlFCiCbI ~ G~I~lIl lTm ~ I 
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d 1 fcl Cfj 1 'P.4.2 

311f&CII~, !lIfilOI ~ ~ ~ ~ waN ~ "ChT (rt'SFch41 qfr ~ ~ 

~ t!~CJ)101 "ChT [4q'{OI 

q·II"\IX ~ ~ " ~ ~ 311-cll~j 

~ 0/0 ~ % ~ 010 

146-157 ~ 1 2.50 4 10.00 25 62.50 

138-147 atrmrxl ~ 16 40.00 17 42.50 11 27.50 

128-137 atmcr 17 42.50 15 37.50 2 5.00 

118-127 atmcr xl Cf)11 4 10.00 4 10.00 2 5.00 

108-117 ~ 2 5.00 - - - - 
"$r 40 100 40 100 40 100 

~aroT 1. ~ I ~ ell '{f1 ffir ~ "film ~ ~ C1 '$ Rn lI'j c#r fum ~ m=d" 
~ cr~Cf>lOI ~ ~ "ChT W1fUT 42.50 s:JRI~ld % I c=r~ ~ xl cpl=f 

~ f.i+:;:r cr~CJ)lol ~ "film ~ "ChT W1fUT ~: 10.00 ~ 5.00 s:JRI~ld 

% I c=r~ ~ xl ~ ~ ~ crf6c;Cf>lol ~ "film ~ cpr ~ 
~: 40.00 c=r~ 2.50 !>'IRI~ld % I 

~ 2. ~ Ift"l 01 ffir ct "film ~ ~ C1'$Rnll'i c#r man ct m=d" ~ 
crf6c;CblOI ~ ~ cnr ~ 37.50 !>'IRI~ld % I c=r~ ~ xl cpl=f ~ f.i+:;:r 
crf6c;Cbl°1 ~ m ~ COT W1fUT ~: 10.00 ~ 0.00 s:JRI~ld % I c=r~ 
~ ~ ~ ~ ~ ~f6c;Cblol ~ "ffia=R ~ cnr WITUf ~: 42.00 

c=r~ 10.00 !>'IRI~ld % I 
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Pt~lffUr 3. wfr. af?r ~ maN ~ -q C'I'$fCbli'i c#r fuarr ~ >rfd ~ 
~~Cf)IOI ~ maN ~ cpr w=rrur 5.00 l'Ifct~ld % 1 TI~ ~ xl Ci?lf ~ 
~ ~~Cf)lOI ~ ~ cpr w=rrur ~ 5.00 ~ 0.00 l'Ifct~ld % 1 TI~ 
~ xl ~ ~ ~ ~~Cf)'IOI ~ ~ cpr WfTOT ~ 27.50 TI~ 
62.50 l'IRt~ld % 1 

Ptlib~ 

C'I'$fCblil c#r fuarr ~ "l'Ifd- ~ 1~Cf)lOI ~ maN ~ -q ~I~cll'{f\ 
af.;r ~ ~ cpr WfTOT ~ %1 ~ xl Ci?lf ~ ~ <i~Cf)lOI ~ 

maN ~ -q '4T 3l1~Cjlx:fl af.;r ~ ~ cpr WfTOT ~ % 1 ~ 

xl ~ ~ ~ <i~Cf)IOI ~ maN ~ ~ ~ af.;r ~ ~ cpr 
WfTOT ~ % 1 ~ C'I'$fCbli'i cBT fuarr ~ >rfd ~ af.;r cfi ma:R 
~ cpr ~Cf)IOI ~, .qPi"lol af.;r ~ maN ~ cpr <i~Cf)IOI 

~ xl ~, TI~ 3l1~Cjlxf\ af.;r cfi WaN ~ cpr <i~Cf)lol ~ % 1 

\iC(~~1I CPo 3 

311 ~ Cj I xf\, !l14'l ° I ~ ~ af.;r ~ maN ~ cpr C'I;S fCb~'i c#r fuarr ~ 
>rfd ~~Cf)l ° I cpr 3l"~ C!WIT 1 

~ \iC{q~lI cpr fCl~~t5jOI !>'lfct~ld !>'l0Il<.1"1 c#r xi5111dl fcn<rr ~ % fUNiCfJI 

fqq'l!OI f.f9" C'l1f&1CtJI l{ q~ll\q1 TJ<lT ~ I 
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d I Fct ePl 'Cp.4.3 

atIRClI-ill, tll41ul ~ ~ al?r ~ Pt'<atX" ~ cpr cl~fcpll'i ~ firan ~ 
~ ctf6e;Cf»)UI cpr fClCI,<ul 

q~IY"d'< "ffiX a11~ql~~j m1fiur ~ 

~ % ~ % ~ 010 

142-152 xrr;q - - 5 12.50 20 50.00 

131-141 atmcr~~ 10 25.00 16 40.00 17 42.50 

120-130 atmcr 22 55.00 15 37.50 3 7.50 

109-119 atR=ra xl 'Cp+f 5 12.50. 4 10.00 - - 

98-108 ~ 3 7.50 - - - - 
m<r 40 100 40 100 40 100 

f.rtIa:rur 1. 311 ~ q 1 xii af?r ~ WaR ~ -q cl \$ Rbll'j c#r fuan ~ m=d 
~ crf&c:Cf)lOI ~ WaR ~ Cf)f W1fUT 55.00 l'IRI~ld ~ I G~ ~ ~ 

~ ~ frrq C£:~Cb'lol ~ WaR ~ cpr W1fUT ~: 12.50 ~ 7.50 

l'IRl~ld ~ I G~ ~ ~ ~ ~ ~ crf&c:Cblol ~ WaR ~ Cf)f 

W1fUT ~: 25.00 G~ 0.00 l'IRl~ld ~ I 

~ 2. tllfliol af?r cfi ffiaR ~ -q cl\$fcblll q)( fuan cfi -md affi:m 
crf&c:Cb'lol ~ WaR ~ cpr "l'J11TUT 37.50 l'IRl~ld ~ I G~ ~ ~ cp11 

~ frrq crf&c:Cf)lOI ~ WaR ~ cpr W1fUT ~: 10.00 ~ 0.00 l'IRl~ld 

~ I G~ ~ ~ ~ ~ ~ crf&c:Cblol ~ WaR ~ cpr "l'J11TUT 

~: 40.00 G~ 12.50 l'IRI~ld ~ I 

RIE Li
bra

ry 
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~aTUT 3. ~ af?r cB- maN ~ -B (YI'$Fcl'1l1'i c#r man cB- mcr ~ 
1~Cblol ~ maN ~ cpr wnur 7.50 l'lRl~ld % I ~ 3ffi:m xl CJ)11 

-qcf f.ikf 1RcCbloi ~ ffiaN ~ cpr w=rrur ~: 0.00 -qcf 0.00 !>IRl~ld 

% I "d"~ ~ ~ ~ ~ ~ 1~Cb'IOI ~ ffiaN ~ cpr wwrr 
~: 42.50 "d"~ 50.00 l'lRl~ld % I 

(YI'$Fcl'1l1'j c#r man cB- mcr ~ 1~Cb'Iol ~ ffiaN ~ -B 311~ql'{:f\ 
af?r cB- ~ cpr 1A1TIUT ~ % I ~ xl CJ)11 ~ f.ikf C;:~Cbl 01 ~ 

ffiaN ~ -B ~ 311~q I'{:f\ ~ * ffiaR ~ cpr w=rrur ~ % I 

3ffi:m xl ~ ~ ~ 1fbcCb'lol ~ ffiaR ~ -B W5fr ~ * 
~ cpr w=rrur ~ % I cm=cm (YI'$Fcl'1111 c#r man cB- mcr W5fr aBr cB­ 
ffiaN ~ cpr 1f?cCblol ~, ~Ililol al?r * ffiaN ~ cpr 
1f?cCblol otR=m xl ~, "d"~ 311~ql'{:f\ ~ * ffiaN ~ cpr 1ffc:Cblol 
3ffi:m % I 

.;I,_ 
4.2.2 qRCfj(.i'q'ilaIT 3TltTR" -qx ~~~I cpr fq~cltS\OI 

~ ~ ~ qRCI?0FII3IT cpr Pt4ilol ~ ~~1:\11 cpr fc)!;!&\6IO( ~ 

~ fcpm Tfm ~I 
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q Ret> (i'q '-11 W. -1 

311~ClI'{q), tll41ol, -qcf ~ aT?f cB- ~ cpr (BRIT-i1mT) &1\$ fcb <l'j 

c#t fum cB- m=a- cr~Cf)1 01 If ~ m~ ~ ~ % I 

~ qRCf)<."4'i1 cpr tRtaroT ~ ~ ~ !NN0I fCI~~~OI cpr ~ fcpm 

Tfm % I ~ fCtCl,<ol dlfC;tCf)1 ~ dlfC;tCbI ~ C{~llljl Tfm % I 

til fC;t Cf) I st> fj jet> 4.4 

311 R ClI'{q), ~ 141 01 -qcf ~ aT?f cB- ~ cpr (lffiIT-i1mT) &1\$ fcb<l'j c#t 
fua:rr cB- -mfr cr~Cf)l 01 If m~ ~ cpr fCt CI \( 0 1 

~ (ff~ 1R.RUf ~ CIdIT Cj)f djCIill~T (ff~ cr<rf F~ wefcPcrr 
(SV) ~ (dt) (MS) «R 

(SS) 
3~ 129.86 ~ ~ (ff&f 
<maftur BSS 8036.27 2 4018.137 

134.35 

~ ~ 47.40 wefco 
~nRf 143.75 3~ 20090.69 237 84.770 «R ~I 

WSS 
N=240 135.99 ~ 28126.96 239 

0.01 w~ ~ ~ ~ ~ -4.75 
0.05 ~ ~ ~ ~ ~ -3.04 

'{"4tt)Cf),<ul :- 

dlfC;tCf)1 xl ~ 5Rrr % fcp 31IRCll,{q) ~14101 -qcf ~ aT?f cB- ~ 
(lffiIT fqm) &I \$ fcb<l'i c#t fum cB- ~ cr~Cf)lUI cB- ~ TfUAT &NT mld" ~'(Nol 

~ 47.40 % I 0.01 m~ «R 1N 311C1~ljCf) '{il\(O~ ~ 4u75 % I ~ 

~ ~ 5Rrr % fcp ~'(i\(°l ~ cnr ~ &RT ~ 1"fPf 3ilq~<OlCf) ~ 

~ xl ~ % I om: ~ 0.01 m~ «R 1N ~ qRCf)<."4'"11 cpl 31{q"ICild 

CR'iT m.n I 
f.1t:'.Cf)~ :- 

31IRClI,{q), tll410l -qcf ~ aT?f cB- ~ cpr (lffiIT-fqm) &I'$fcb<l'i c#t 
fum cB- -mfr crfFcCf)'1 0 1 ~ m~ ~ % I 
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.-'-.- ..•.•. _- 
;, •.. ~"' 

~. . .". 
\. 

-. 

311 ~ ell '{on, til Jil 0 I, ~ ~ al?r ~ 11Tffi ~ cnr C?I \$ Fchll'i c#r fum 
~ >ITa ii~Cblol # ~ m~ ~ ~ ~I 

~ q RCB0F"l1 cnr "Cffrarur ~ ~ ~ ~NN0 I Fcl ~~!Sf 0 1 'Cf)T ~ fctRrr 

l"fm ~ I ~ Fclel',<OI ~ dl~CBI # ~~Irlll l"fm ~ I 

d 1 ~ chi mil i CB-4.5 
311 ~ ell '{on, tll41 0 I ~ ~ al?r cB- 11Tffi ~ cnr C?I \$ PcP lI'j c#r fua:rr 

~ >ITa 1fi5cCblol # m~ ~ 'Cf)T FclCl,<ol 

0.01 m~ ~ 1N 'HI,<oTl ~ -4.78 

~ <J1~ ~ ~ crcm cpr ~-\!T <J1~ cruf F~ mefWcrr 
(SV) -men- (dt) (MS) «R" 

(SS) 
3~ 133.55 ~ m- <J1Si!T 
<mC!fiur BSS 2181.06 2 1090.53 

135.05 
-\!~ ~ ci5 1 6.01 mefcp 

143.25 ~ 7967.30 117 68.09 
WSS «R" % I 

N=120 137.28 -men- 10148.36 119 

0.05 m~ ~ 1N '{il,<ufl ~ -3.07 
*4~Cf)'{ul :- 

dl~Cf)1 -xl ~ 00 ~ fcn 311~ellfl1, ~IJiIOI, ~ ~ al?r ~ lWIT 

~ 'Cf)T C?I'$PcPlI'i ctr fuan cB- -qffi 1f&::Cb'lol cB- ~ lHN01 ~ 16.01 

~ I 0.01 m~ ~ 1N 311C1~I4Cf) 'HI,<oll ~ 4.78 ~ I ~ <:ffi ~ 5lm ~ 
fcp !;P{N ° I ~ 'Cf)T TfUAT &RT ~ l=fA" 311 CI~14 Cf) xi 1'< oft ~ -xl ~ ~ I 
zm:r: ~ 0.01 m~ x=ctX 1N ~ qRCB01'"11 em 31{cflCltd 'CfR'lT 5Trrr I 
Pttifj~ :- 

~ qRCB(>{l'i1 "Cffrarur ~ G1G$~ G1CBC?ldl ~ ctr, 31 1f4C1Ixon, tllJi"lol ~ ~ 

al?r cB- lffiIT.~ 'Cf)T C?I \$ PcPlI'j ctr fum ~ >ITa ~~Cbl 01 -B ~ m 
~I 
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3l1~ql'{~), ~14'l°1 ~ ~ af?T cB- fqm ~ Cf5T cl\$fcbll'i ctr ~arr 
cB- m=fr crf?cCf)'IOI ~ ~ ~ ~ ~ ~ I 

~ q RCf) (>q '-11 Cf5T Wa:r:rr ~ ~ ~ l;:I'H'I! ° 1 fcl ~~ lSI 01 Cf5T ~ fcnm 

lTm ~ I ~ fcl q'l! 01 ~ ctl~Cf)1 if C{~lrlll lTm ~ I 

dlR-icnl w~iCf) 4.6 

3l1~qlx-n, ~1~01 ~ ~ af?r cB- fqm ~ Cf5T cl\$fcbll'i cBT fuarr 
cB- m=fr crf?cCf)'IOI ~ m~ ~ Cf5T fclq'l!°l - 

~ ~ m:RUT ~ Cfclif Ci5T ~ ~~T <Fr~ CJ<Jf F~ mefumr 
(SV) (SS) (dt) (MS) «R" 

3~ 126.18 ~ cB <FreT 6599.217 2 3299.608 35.17 meful 
Mur 133.65 BSS 3m 

~~ 144.25 ~ cB 10976.375 117 93.815 ~I 
3fGd<Jfcr 

WSS 
N=120 134.69 ~ 17575.592 119 

0.01 m~"ffiX "4"'1!" ,{il'<u~ ~ -4.78 
0.05 m~ "ffiX "4"'1!" 'HI'I!o~ ~ -3.07 

'f4 ~Cf)'{O[:- 

- ..•... 

ctlR1CbI ~ ~ mm % "ct1 cBT, 3l1~qlfTl, ~1+fl01 ~ ~ af?r cB- ftrctT 
~ Cf5T cl\$FcPlil cBT ~arr cB- W crf?cCf)101 cB- ~ ~ &RT >fTl{l 

l,HN01 ~ 35.17 ~ I 0.01 m~ "ffiX "Q"'I!" 3OIICI::tllCb '{il,{uTl ~ 4.78 '51 
~ 'lffi ~ mm ~ fcn !>'I '(N0 1 ~ cpr rrvr-n &RT meG l1T'l 311 CI~llCb 

x-lI'1!ofl ~ ~ ~ ~ I 3icl: ~ 0.01 ~ "ffiX "4"'1!" ~ qRCf)(>q"i1 cnT 
31 x:cf\ CJt ct ~ 5llTI I 

f.1l'iJ) ~:- 

3l1~ql'{"l1, tll4'l0I, ~ ~ af?r cB- fqm ~ Cf5T cl\$fcbll'i cBT ~arr 
cB- m=fr crf?cCf)'1 ° 1 if m~ 3RR ~ I 

57 

RIE Li
bra

ry 
Bho

pa
l



311~CJlxf) al?r cfi ~ cpr (l=fmT-fG"m) <.'1'$fcl:>1I'i ctT ftTa:rr cfi -mfr 
~~Cf)'1 01 -q ~ ~ ~ -.=ffiT % I 

~ qRCfj('q'i1 cpr "4fra=rur ~ ~ 't'"LIftafUf cpr ~ fcnm lTlIT % I 

~ fclCJ,,(ol ~ dl~CfjI -q q~11""l1 Tf<rr % I 

dl~C61 ~-4.7 

311~CJlxf) al?r cfi ~ cpr (l=fmT-fG"m) cpr <.'1'$fcl:>lI'j ctT ftTa:rr cfi -mfr 
C£~Cf)101 -q ~ otcN cpr fclCJ,<ol 

~ ~ d1~ IOltfllfOlCB ~~T IOltfllfOlCB ¥ ~ mefCBcrr 
(N) (M) ~ (df) (SEd) ~ :ccR" 

(SD) (CR) 

d1Tffi 40 133.55 8.19 
mefcp 

78 1.85 3.98 3kR"% 
fQcrr 40 126.18 8.22. 

0.05"fIT~ ~"4X~ ~ 1.99 
O.01"fIT~ ~ "4X xi 1,,(011 ~ -2.64 
't4te1C6,<O[:- 

d 1 ~ Cf) 1 ~ ~ ~ "ffirr % cBT 311 fG CJ 1 '{f) al?r cfi 11TdT -qcf fimT ~ 
cpr <.'1'$fCblll cBT fuan cfi -mfr C£~Cf)101 cfi ~ Sf)iRiCfj ~ (CR) cpr ~ 

amT ml:d" <=fFf 3.98 % I 0.01 W~ ~ "4X '{i 1'<011 ~ 2.64 % I ~ ~ 

~ "ffirr t I cBT Sf) iRi Cf) ~ cpr TJllT'iT CGRT ml:d" <=fFf 'n 1'< °il ~ ~ ~ 

% I 3lCl: 0.01 "fIT~ ~ "4X ~ qRCfj('q'i1 cpT ~ 3lR-ctClid ~ 5TlTT I 

Pttif)~:~ al?f cfi ~ cpr (l=fmT-fG"m) ~ cpr <.'1'$fCbll'i cBT 

fuan cfi ~ C£~Cf)101 -q "fIT~ ~ % I 
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!l14'l01 al?r cf> ~ CBT (l1IcTI fCmT) (1,,?fcl'><:t'i cffr fua=rr cf> >ffil cr~Cf)lUI ~ 
~ "ffi~ 3Tffi ~ % I 

~ qRcp~'i1 CBT Wa-TOT ~ ~ It' ~a-TOT CBT ~ fclRrr lTm % I 

~ fClClxul ~ C'l1~CBI If C{!it1~1I1 Tf<:JT % I 

!I 14'1 01 af.5r cf> ~ CBT (l1RIT-f(mr) <.'1 "? fcl'> <:tl cffr fua:rr cf> >ffil 

crRe:Cblol it m~ ~ "Cf)T fclClxul - 

~ ~ Cff~ !>ICfllfOlCf.l ~~T !>ICfllfOlCf.l ¥ ~ we.fumr 
(N) (M) ~ (df) (SEd) 3~ "«R" 

(SD) (CR) 

Cl'ITffi 40 135.05 9.28 wefco 
78 2.14 0.65 3icR 

Rmr 40 133.65 9.65 ~~ 

0.05 "ffi~ ~ tR ~ ~ 1.99 
0.01m~ ~ tR 'Hlxol! ~ -2.64 
*4~cp'<OI: 

C'li ~ CB 1 xl mm mm % fcn, ~ IFf) U 1 af.5r cB- lffiIT ~ f1tC1T CBT <.'1 "? f¢ <:t'j cffr 
fua=rr cf> >ffil crRe:chlol cf> ~ miRiCB ~ (CR) CBT TfUAT c.qm mtC1" 11Ff O. 

65 % I 0.05 m~ ~ tR ;HI,!oTl ~ 1.99 t I ~ <:ffi ~ 5lm % I cffr 
miRi CB ~ CBT "lfURT amT mtC1" 11Ff X1RUIt ~ xl ~ % I 3Rf: 0.05 

"ffi~ ~ tR ~ qRCB(V(l'i1 en)- 5ll '{-4'\CfkC'l ClWIT ~ I 

Pttq)~:-!lI4'l 01 af.5r cf> ~ CBT (lffiIT-NCiT) <.'1,,?f¢<:t'i cffr fua=rr cB- -mcr 
<iRe: Cb 1 0 1 it "ffi~ 3Tffi -;:ffiI ~ I 
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~ af.?r cB- ~ cnr (limT-f(tm) C'i'$fcp£('j c#t fum cB- m=d 
~~Cblol -B ~ ~ 3RR -;:ffiT ~ I 

~ q RCb c;q 'i I cnr WaTUT ~ ~ t -qftaTUT cnr wWr -FcPm lTm ~ I 

~ RlCl,<°1 f.ikl dl~CbI -B C{~lh:1I lTm ~ I 

dl~CbI tPi1iCb 4.9 

~ af5r cB- ~. cnr (limT-f(tm) C'i'$fcp£('j c#t fuan ~ ~ 
~~Cblol -B w~ ~ cpr RlCl,<01 - 

~ ~ CFf~ !>ICfllfUlC5 ~~T !>ICfllfUlC5 ¥ ~ wefcPcrr 
(N) (M) ~ (df) (SEd) ~ «R' 

(SD) (CR) 

"CfITffi 40 143.25 5.95 wefu; 
78 1.68 0.59 3icR 

ftrcrr 40 144.25 8.68 0Jtt% 

0.05 w~ ~ "CR ~ ~ 1.99 
O.01W~ ~ "CR ~ ~ -2.64 
'{"q tse.'I Cb '< ° I : 

dl~CbI xl ~ 5Tcrr ~ fcn, ~ af?r cB- ~ (l1Till f(tm) cpr 
C'i~fcp£('j c#t' fum cB- m=d ~~ICPlol cB- ~ tPiRiCb ~ (CR) cnr TfUAT 

CC{N[ mcd l1R 0.59 ~ I 0.05 m~ ffiX "CR 'HI,<oft ~ 1.99 ~ I ~ <r5 

~ 5lcrr ~ I c#t wiRi Cb ~ cpr 1""fUAT CC{N[ mcd l1R 'H I,<oft ~ xl ~ 
~ 13m: 0.05 W~ ~"CR ~ qRCbcr4'il em- ~ 'F~)Cfld ~ m-m I 
PI &f)~:- ~ af5r cB- ~ cpr (limT-f(tm) C'i '$fcp£('j c#t fuan cB- ~ 
~~CPlol -B W~ 3RR ~ ~ I 
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all ~q Ifll, ~ Ifi"l 01 ~ ~ el?r * ~aN ~ cnr (lffiTI fqm) 
(1'$ Fcbll'j c#r ffia:rr * -mTI ~ffeCf) I ° I -q cnW ~ ~ ~ ~ I 

~ q;fj Cbc>4 '-11 cnr "Y"fra=rur ~ ~ mc;:r !;HNOI fCp~~ t5j ° I cnr ~ fcnm 
TfllT % I ~ fclq'{ol ~ dlf&CbI if ~~Iflll TfllT % I 

dlf&CbI wfliCb 4.10 

all~ql'{:fl, ~lfi"lol ~ ~ el?r * "fITaN ~ cnr (lffiTI-fqm) 
(1'$RPlll q)1 fuan cB" -mTI ~ffeCf)lul -q ~~ ~ cnr fclq'{ol 

~ CFf~ ~ ~ CIdif COT <itJr ~'\!T CFf~ craf F3~ wefcm:rr 
(SV) (SS) (dt) (MS) «R 

~ 134.65 ~ cB CFf5!:[ 
<lllCFftur 133.65 BSS 3188.467 2 1594.233 wefm 
.\!~ 146.80 ~ cB 22.56 3kR 

3~ 8265 117 70.641 ~I 
WSS 

N=120 134.69 <itJr 11453.467 1199 

0.01 ~~ x:m LR ,{il,{u~ ~ -4.78 
0.05 ~ x:m LR ,{11'{0~ ~ -3.07 

'{"4~ep,,!ul:- 
til f& Cb I xl ~ Nc=rr ~ en- c#r, 311 f4 q l;ffj, {II fi"l U I -qct ~ el?r * "fITaN 

~ (lffi'IT--Rhrr) cnr (1'$RP41 c#r ftra:rr * W 1fiZCf)101 * ~ TJ"lTAT 

ID'ZT >rNf !>'ixHol &j41TI 22.56 % I 0.01 ~~ x:m LR 3Jlq~llep xil'{o~ ~ 

4.78 "5 I ~ ~ ~ Nc=rr % fcp !>'i'{Hol &j41TI cnr TJ"lTAT ID'ZT ~ liR 

3Jlq~llCb xil,{o~ ~ xl ~ % I 3Rf: ~ 0.01 ~ x:m LR ~ 

q Rep c>4 'i I em- 31 {cT\ C!2 d ~ irrr I 

Pit'q)tt :- 

3J\~q\'{:fl, "':W{\O\ ~ ~ el?r * "fITaN ~ (lffiTI-fqm) cnr 
(1'$RPll'i c#r fuan * -mTI ~ReCf)'IOI if ~~ ~ % I 
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~1f4cll,{~, £11#101 ~ ~ af?r cB- ffia:R ~ Cf>T (1ffilT-f{rcrr) 
(YI\$Rhll'i c#r fua:rr cB- IDa- 1J~cp101 ~ cnW ~ ~ ~ % I 

~ q ~ q)(.>{F"l1 Cf>T tRTafOT ~ ~ "fffi>f l;Hi'< 0 1 Rt~<9t li 01 Cf>T ~ fctRrr 
~ % I ~ RlClxOI f.ik=f ctiRriCJ')1 ~ ~~Il\!:jl 11m % I 

d I~ CJ')I tfjfJ jCJ') 4.11 

~I~ql,{~, £11+1"101 ~ ~ af?r cB- ffia:R ~ Cf>T (1ffilT-f{rcrr) 
(YI '$ PcP II 'j c#r man- cB- -m=a- 1~CP '101 if mclco ~ Cf>T RI C{ '{ 0 1 

~ <Ff~ ~ ~ C!<lTf cpr c:ITCJT wmt~T d'f~ 'CICJf F~ mefcPcrr 
(SV) (SS) (df) (MS) «R: 

~ ~ cB- d'f&f 
125.07 4982.917 2 2491.458 

~ 130.95 BSS mefco 
~mRt ~ cB 35.02 3RR 

140".70 3~ 8323.075 117 71.137 
~I 

WSS 
N=120 134.69 c:ITCJT 13305.99 1 1 9 

0.01 m~ x=ctX ~ ,{il'(U~ ~ -4.78 
0.05 m~ x=ctX ~ ,{ilx~ ~ -3.07 

'{"q tse)cp,<°l :- 

ctlf(;jcpl xl ~ mar % fcn, ~I~qlxil, £I14'l01 ~ ~ af?r cB- meN 
~ Cf>T (YI'$Rhll'j c#r man- cB- ~ 1~cpl 01 cB- ~ 1fURT am ~ 
1HN01 ~ 35.02 % I 0.01 m~ ~ ~ ~Iq~<:jcp ~ ~ 4.78 % I 

~ <:ffi ~ mar % fcn l'l,{N°1 ~ Cf>T TfUAT m ~ ~ ~lq:il\!:jCJ') 

~ ~. xl ~ % I 31c'f: ~ 0.01 ~ x=ctX ~ ~ qRCJ')CIG'l1 em 
~'{-4'lClict ~ ~ I 

f.1tif)~ :- ~I~ql,{~, £11+1"1°1, ~ ~ af?r cB- WaN ~ Cf>T (1ffilT-f{rcrr) 

(YI '$ PcPll'j ctr man- cB- >ITa 1~cpl 0 I ~ m~ ~ % I 

62 

RIE Li
bra

ry 
Bho

pa
l



qRCh(i'q"11 W.-9 

(111 ~ ell '{fI, tll4'l 01 -qcf ~ af?r ~ ma:R lfRlT ~ Cf)f C1'$fCp""ll c#r 

fum ~ ~ 1f?<;Cf)'101 -q ~ w~ ~ ~ ~ I 

~ q ~ Cf) (>C( "11 Cf)f ~a:r:rr ~ ~ ~ ~ '{i'< 0 I fCl ~~ 6i 01 Cf)f ~ fcIRn 

~ ~ I ~ RlqXol frr:"i" ctl~Cf)1 ~ ~~ITlil ~ ~ I 

ctl~ChI wfJiCh 4.12 

--+ 

(111 ~ q I '{fl, tll41 0 I -qcf ~ af?r ~ ma:R lfRlT ~ Cf)f C1'$ fCp ""11 c#r 

ftra=rr ~ ~ 1 f?<;Cf)1 0 I -q w~ ~ Cf)f fCl q x 0 I 

~ CFf~ 1R.RUT ~ cr<riT Ci5T ~ ~~T CFf~ CT<Jf F~ mefWcn" 
(SV) (SS) (dt) (MS) 'RR" 

3~ 137.85 ~ cB CFf&f 

~ BSS 1015.033 2 507.516 mefcv 137.80 
~~ ~ cB 10.570 3RR: 

146 .. 55 3~ 2736.70 57 48.012 %1 
WSS 

N=60 134.69 ~ 3751.73 59 

0.01 ~ "ttR -qx ,{11,{ull ~ 4.98 
0.05 ~ "ttR -qx '{ilxoTi ~ -3.15 

't4 tsl\Chxol :- 

ct I ~ Cf) I ~ ~ ffirr ~ fc)), 311 ~ q 1 '{fl, tll Ji"1 0 I ~ ~ af3f ~ "\tiTa=R 

lfRlT ~ Cf)f C1'$fCp""lI' c#r _ ftra=rr ~ ~ ~~Cf)1 01 ~ ~ ~ m m-cct" 
~'{N0I ~ 10.570 ~ I 0.01 wcicm=rr "ttR 1R 3lICj~ljCj? fll,<ufl ~ 4.98 t 1 

~ <:ffi ~ 5TctT ~ fc)) ~ '{No 1 ~ CBT TfUFIT &RT mcct" liFf (111 Cj ~lj Cj? 

'{ilxoTi ~ ~ ~ ~ I 3ic1: 5ll 0.01 ~ "ttR -qx ~ qRCf)(>C("11 "Cb1 

(11 ,{"Cli Cfl ct "CbBT ~ I 

PIISCP tl :- 
(111 ~ q I {fl, tll Ji"1 0 I, -qcf ~ af?r ~ "\tiTa=R liTctT ~ CBT C1 '$ fCp ""l'j c#r 

fum ~ ~ 1f?<;Cf)'1 0 I -B "fIT~ ~ ~ I 
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" 

\\' c, c'-: -; /~, ,,)J ------ " 1 
qRCt>(iq"1I w.-10 "",,'. ,,/ 

..•. _ ... ~;;...-.:.~...,- 

31IRql'{"fi, tll4ilol ~ ~ a1?r cB- maR =ret ~ cpr 61\$Fcb~'j c#r 
fum cB- ~ 1f?<;cp'lol ~ ~ ~ ~ ~ % I 

~ qRCbc:>qrll cpr tIfra:roT ~ ~ ~ !>I'{i'{0l Rl~~tSjol cpr ~ 'FcP<:rr 

-rn:rr % I ~ fclq'{ol frr:rr ctl~Cf)1 ~ ~~IT'41 -rn:rr % I 

ctlfcicfj( fuS1iCt>-4.13 

311 Rq I'{~, tll4i1 01 ~ ~ a1?r cB- maR =rer ~ cpr 61\$ Fcblll· c#r 
fua:rr cB- ~ 1f?<;cp'l 01 ~ m~ ~ cpr Rlq"!OI- 

~ di~ ~ ~ craif cpr ~ djC!ffi-\,!T di~ cr<Jf F~ wefumr 
(SV) (SS) Cdt) (MS) «'R' 

~ 129.25 ~ c5 dim 
<llTcfftur 132.30 BSS 1215.433 2 607.716 wekP 
-\'!~ ~ c5 9.23 3icR 

139.95 ~ 3752.90 57 65.840 ~I 
WSS 

N=60 133.83 ~ 4967.523 59 

0.01 m~ ~ LR ,{il,{u~ ~ -4.98 

0.05 m~ ~ LR 'til'{oll ~ -3.15 

"ttltl\Ct>,{ol :- 

ctl~CbI xl ~ 5Tffi % fci?, 311~ql'{~, '!:I 14101 ~ ~ a1?r cB- maR 
l=ffiIT ~ cpr 61\$Fcb~'i c#r mm cB- ~ ~f?c:cp'IOI cB- ~ TfUAT &RT IDLd 

!>I'tHol ~ 9.23 % I 0.01 mcicncn ~ LR 31lq!i!'4Cb 'HI'{OT\ ~ 4u98 % I 

~ ~ ~ 1?rctT % fcp !>I'{Ho 1 ~ cpr TfUPiT &RT IDLd l=fR 31lq~'4Cf) 

~ ~ xl ~ % I 3lTI: m 0.01 ~ 'ttR LR ~ qRCf)(rll'"l1 coT 
31't-qIC!tct ~ 5Tm I 

PtIiP~ :- 31IRql'{~, ~IJflol ~ ~ a1?r cB- maRlfmT ~ cpr 61\$ Fcb<:t'i 
c#r mm cB- ~ 1Rccp'l 01 ~ ~ ~ % I 
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qRCf>&q;:tI w.-11 

~ I ~ cllxil, ~ 141 01 ~ ~ af?r cfi ma:rx ftmT ~ cpr C1~fcpll'j ctr 
fum cfi ~ ~Re;Cf)'101 -B ~ ~ oR=R ~ % I 

~ q RCbc>(Fll cpr tRlafOT ~ ~ m"C1" lYl'{i '< ° I fCl ~~ t5I ° I cpr ~ fcpm 
ll<IT % I ~ fCtq,<°1 ~ ctlF61CbI -B G~lf<l1 ll<IT % I 

ctlF61Cf>1 fufJiCf> 4.14 

~I~ql'{-n, ~14'l°1 ~ ~ af?r cfi m ftmT ~ cpr C1~fcpll'j ctr 
fum cfi "l>'l"fu ~~Cf)'t ° I -B m~ oR=R cpr fCl q '< ° I 

~ Cff~ mRIJf ~ crrril cor ~ ~~T Cff~ CI<lf F~ ~efumr 
(SV) (SS) (dt) (MS) «R" 

3~ 13.1.45 ~ c5 Cfftzr 

tlTT<!fiuT BSS 2465.633 2 1232.816 ~efcp 137.70 
~~ ~ c5 13.735 3lCR" 

147.05 3~ 5116.10 57 89756 ~I 
WSS 

N=60 1 38.73 ~ 7581.73 59 

0.01 m~ ~ 'CR ,{-lI,<ulI ~ 4.98 
0.05 m~ ~ 'CR fll'<O~ ~ -3.15 

'{"q~Cf>'<°1 :- 

ctlF61cbl -xl ~ mm % f$, ~I~ql'<ft, ~lfJlol ~ ~ al?f cfi ma:rx 
11RIT ~ cpr C1~Pcbll'j ctr fum cfi ~ ~~Cf)'t 01 cfi ~ ~ 8RT mld" 

!'HNOI ~ 13.735 t I 0.01 m~ x:c=R 'CR 31lq~<lCb '<"lI'<°Tl ~ 4.98 % I 
~ <T5 ~ mm % fcn lYlfl,<°1 ~ "CbT ~ m mLct" l=fR ~1q!~<lCb 

~ ~ -xl ~ % I Gffi: ~ 0.01 ~ ~ 'CR ~ qRCb&q'i1 -cnT 

~'{-q"1 cttct ~ ~ I 

M&Pl't :- ~I~ql'{-n, tll4'l°I, ~ ~ al?r cfi Wffi fl:mT ~ "CbT 

C1 \S Pcb £I 'j ctr ftran cfi ~ ~11cCf)'1 ° I -q m~ oR=R % I 
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QRocp(.YQGfI sp.-l 2 

311 ~ CJ 1 '{~ £1141 ° 1 ~ ~ ~ cfi maw f1mr ~ em- 61'$ fcb\l:l'j c#r 
fum cfi ~ .1R¢Cf;' °1 If ~ ~ ~ ;:ffiT % I 

~ q;fl ¢ iA 'i 1 em- 1NraTUT ~ ~ ~ !NN 01 fCp~<91 t5l 01 em- ~ fcp-m 

1"J1IT % I ~ R!CJxOI ~ dl~¢1 If ~~lf<Ol1 1"J1IT % I 

dlR!Cf)1 ~-4.15 

311 ~ CJ 1 '{~, £1141 ° 1 ~ ~ ~ cfi maw f1mr ~ em- 61'$ fcb~l c#r 
fum cfi ~ 1fi?cCf>1 ° 1 'B m~ ~ em- fcI CI x ° 1 

~ C!1~ -mRUf ~ 'CfJif Q5T men- CjCffii~T C!1~ crcrf F~ wefcPcrr 
(SV) (SS) (df) (MS) «R 

3~ 12Q.90 ~ cB C!1&1' 
<mCFftur BSS 4256.10 2 1228.05 

wefu5 129.60 
~TW ~ cB 32.1 1 0 3tcR 

141.45 ~ 3777.55 57 66.27 ~I 
WSS 

N=60 130.65 men- 8833.65 59 

0.01 ~ ~ LR '<11,<uTl ~ -4.98 
0.05 m~ ~ LR '{"1I,<0Tl ~ -3.15 

'{"q tstiCf),,<°1 :- 

dlR!C$1 ~ ~ men % fcp 3i1~ClI'{-n ~u41ol ~ ~ ~ cfi maw flNr 
~ em- 6'I'$Fcb\l:ll c#r fum cfi ~ 1f6cCf>101 cfi ~ lTUf1T m mtd" 

UiJONOI ~ 32.110 ~ 1 0.01 ~ ~ LR 31ICl!;1I[j¢ '{ilxoTl ~ 4.98 % I 
~ ~ ~ 1?rc=rr % fcp !HHO 1 ~ cnr TfUT'iT gm mcd" l=fR 3i ICI ~<Ol ¢ 

fll'<0Tl ~ ~ ~ % I 3m: 5B 0.01 ~ ~ LR ~ 4RCfH!4'i1 cnT 
3i '{-q'l CQ. d 'CIJ'<"'iT ~ I 

PtliP~ :- 3i1~ClI'{~, ~ 14101 -qcf ~ ~ cfi maR f1mr ~ cnr 6'I'$f¢\I:I'j 
c#r fum cfi ~ 1f6c1Cf>101 it m~ ~ % 
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3l1~cll'{q) af?r ~ maN ~ Cf)f (l=fffiT-m) 61\$FcPlIl ctr fum ~ 
~ 1 RcCf)'101 ~ ~ m~ 3RR ~ ~ I 

~ qRCf)C'Y'"l1 Cf)f WafOT :m ~ t ~afOT Cf)f mW"r. fcn<rr Tf<lT ~ ~ 
fclq,,{OI frr9 dl~Cf)1 if ~~Il<:jl Tf<lT ~ I 

dlfcicPl mSOliCh 4.16 

3l1~ql'{i) af?r ~ maN ~ Cf)f (l=fffiT-m) (Y1\$PcPlI'j ctT ftra:rr ~ 
-mer ~RcCf)lol if m~ 3RR Cf)f fclq,,{ol - 

~ ~ d1~ !>liftlfOlC15 ~~T !>liftlfOlC15 ¥ ~ wefCl5m 
(N) (M) ~ (df) (SEd) 3~ «R" 

(SD) (CR) 

CFIlCIT 20 137.85 6.83 
wefC15 

38 2.61 2.45 
3kR~ 

ftrcrr 20 1 31.45 9.10 

0.05 m~ x=m ~ ,{il,{u~ ~ 2.02 
0.01m~ x=m ~ '{il,<oTl ~ -2.71 
'ttl tstJ cpO{ 0 1:- 

dl~Cf)1 "'<l mm 5Till ~ fcn, ~ al?J ~ ~ (l=fffiT m) Cf)f 

61\$f¢lIl ctr fua=rr ~ ~ ~RcICf)'lol ~ ~ mifdCf) ~ (CR) Cf)f ~ 

CGRT m-cd" l=fR 2.45 ~ I 0.05 w~ ~ LR {ll'<u~ ~ 2.02 t; I ~ <:f5 

~ 5lcn ~ I ctr mifd Cf) ~ Cf)f ~ "C({RT m-cd" l=fR '{OJ I ,,{oTt ~ ~ ~ 

~ I 3Rf: 0.05 m~ x=m tR ~ qRCf)C'Y'"I1 em- ~ 3l'{-q"ICild "Cf)"FfT m-rrr I 

Pib$ct :- 3l1~ql'{q) aBr ~ mffi ~ Cf)f (liTdT-f?mr) Cf)f 61'$f¢1I1 ctT 
fum ~ ~ 1RcCf)'t 0 I if m~ G:fc=R ~ I 
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QRCb&<4"i1 w.-14 

311~ql,{"~1 af5r cB- ffiaw ~ em (llTIIT-fClm) C1'$fcp;q'i c#t ftran cB­ 
mcr c~:r~Cf)101 if ~ ~ ~ ~ % I 

~ qRcpC'Y"i1 em Lffiarur ~ ~ t ~arur em ~ fcnm 11<IT % ~ 
fClq,!ol R9 dl~cpl if ct~IT<O:I1 11<IT % I 

dli"clCbI fufliCb-4.17 
311~ql'{~ af5r cB- ffiaN ~ em (llTIIT-fClm) C1'$fcp;q'j c#t ftran cB- 

mcr ~~Cf)1 01 if wclcn 3:RR em fCI q '! 0 1 - 

~ ~ (ff!'ZfcfllGf UCFtlfOlCf5 ~~T UCFtlfOlCf5 ¥ ~ mefcPcrr 
(N) (M) ~ (df) (SEd) 3~ "«R" 

(SD) (CR) 

CftTffi 20 129.25 6.84 
mefCf5" 

38 2.437 3.42 3fm:% 
fQcrr 20 120.9,0 8.12 

O.01W~ x=cR tN ,{11,{ull ~ 2.71 
0.05 W~ x=cR tN '{il,<OTl ~ 2.02 
*4~cp,<ol: 

mwr d l~cpl xl ~ 5Rrr % fcn, 311~q I'{~ af5r cB- ffiaw ~ 
(liffiT fClm) cpr C1'$fcp;q'i cCr roan cB- mcr ~~Cf)'IOI cB- ~ fuiRien ~ (CR) 

em "lfUT"iT CGRf ~ liT"i" 3.42 % I 0.01 m$!mr x=cR tN '{il,<oTl ~ 2.71 t I 

~ ~ ~ 5Rrr t I cCr wiRi en ~ em "lfUT"iT CC'JXT ~ liT"i" ~ ~ 

~ ~ % I 3Td: 0.01 m$!mr ffiX tN ~ qRcpC'Y"i1 cnT 51f 31'{-q"ICfid ~ 

5Trrr I 

PI tip ct : - 311 ~ q 1 xii af5r cfi ffim ~ cpr (llTIIT- fCmr) C1 '$ fcp;q 'i c#r ftran 
cB- mcr ~~Cf)101 if mclcn ~ % I 
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qRCf)(i'q'i1 w.-15 

!I14'lol af?r cfi x=rraN ~ cpr (l1lCIT-mr) 61~fcp""l'j ctr fuarr cB- ~ 
~~Cblol if ~ ~ 3h=R 'l1ff % I 

m=wr qRCb<A':1I cpr Wa=rur ~ ~ t ~ cpr wWT ~ Tfm % I 

~ Fc1Cj~ol ~ dl~Cf)1 if ct~ITlil ~ % I 

dlfciCf)1 w~iCf) 4.18 

!I1fJlOI af?r cfi maR ~ cpr (l1lCIT-fQm) 61~fcp""l'j ctr fuarr cB- ~ 
~f?c;Cblol -B m~ 3h=R cpr Fc1Cj~ol 

~ ~ C!1~ !>ICFtlfOlct5 ~~T !>ICFt IfOlct5 ¥ ~ wefcPcrr 
(N) (M) ~ (df) (SEd) ~ «IT 

(SD) (CR) 

CFtmT 20 137.80 7.75 wefu; 
38 2.797 0.035 3fcR" 

fQcrr 20 137.70 8.95 crtt~ 

0.05 m~ 'ffiX lR "fINOTr ~ 2.02 
O.01~ 'ffiX -qx ;:HI~oll ~ -2.71 
'{"q~Cf)'<°1 :- 

(l1lCIT fCtm) 61~fcpll'i ctr fum cB- ~ ~f?c;Cblol cB- ~ wiRiCf) ~ (CR) cpr 
l"fURf ~ mta 1iR 0.035 % I 0.05 m~ 'ffiX lR '{il,{oll ~ 2.02 % I 

~ <:ffi ~ "ffim % I cBT w iRi Cf) ~ cpr <fURl "Cct"m ID{ij" l=fR xi 1 ~ 011 ~ 

"fr ~ % I 3m: 0.05 mcicncrr 'ffiX lR ~ qRCb<A'"l1 cnT ~ fCllCQd ~ 

~I 

Pi tiPtt:- !I14'l 0 I af?r cfi ma:R ~ l1lCIT mr cpr 61 ~fcp 1I1 cBT fum cB­ 
~ ~~Cb'IOI if ~ m~ ~ -.=rift % I 
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qRCh(jq'-1I w.-16 

~ P:flol af.?r ~ ffim ~ Cf5T (11Im-fIrnT) (>I\$Fchll'j c#r fua:rr ~ -mfr 
~~Cf)'IOI if ~ wclcP ~ ~ t I 

~ qRChc>4'11 Cf5T Wa=rrr ~ ~ t ~a=rrr Cf5T ~ fclRrr lfm t I 

~ fCICl"{ol ~ dl~CbI if <;~.I~<:JI 1Tm t I 

dl~ChI Sf)"1iCh 4.19 

~IBlOI af.5r ~ ffiaR ~ Cf5T (11Im-fIrnT) (>I\$Fchll'j c#r fuan cB- -mfr 
~f?cCf)101 ~ ~ ~ Cf5T fCICl"{ol 

~ ~ Cff~ wtfllfOlC15 ~~T wtfllfOlC15 ¥ ~ wefcPcrr 
(N) (M) fcfflacr (df) (SEd) ~ "RR" 

(SD) (CR) 

d1lCIT 20 132.30 10.30 we.fcD 
38 3.13 0.86 3'fC'R: 

ftrcrr 20 129.60 8.96 "l"tt~ 

0.05 w~ x:c=R LR ~ ~ 2.02 
O.OH=rr~ x:c=R LR '{iI,,{oll ~ -2.71, 

~ d 1 ~Cb 1 xl ~ 5Rrr t fcp ~ I~"I 01 af.5r cB- ffiaR ~ (111m 

fIrnT) Cf5T (>I\$Fchll'j c#r fuan cB- -mfr ii~Cf)'lol ~ ~ s:piRrCb ~ (CR) Cf5T 

~ c<;m mt('f l=fR 0.86 ~ I 0.05 wclcPcrr x:c=R LR "HI,,{oll ~ 2.02 ~ I ~ 

~ ~ 5Rrr ~ I c#r s:piRr Cb ~ Cf5T T["UAT ccrrxr >rfCG l1R xmuTr ~ xl 
~ ~ I Gffi: 0.05 m~ ~ LR ~ qRCb0HI em- ~ ,{-qlCl2d ~ 

~I 

Ptt5Cf)tl :-£1141 01 af.5r cB- ffim ~ Cf5T (llRTI fl«rr) (>I\$Fchlil c#r fum cB­ 

-mfr ii~Cj)'lol if ~ ~ GRR ~ t I 
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qRCf>6'lF"l1 w.- 17 
~ ~ cB- marx ~ cnr (llRlT-fCmr) C1'$Fch~'i cBI ftraTI cB- m=cr 

crffeCbl ° I ~ ~ m~ J:fc=R 'TIff % I 

~ 4 RCb(:;q""1 I "CbT ~arur ~ ~ t ~arur cnr ~ fcpm ll<IT % I 
~ fclCJxol R9- dl~CbI ~ ~~Illli ll<IT % I 

dl~Cf>1 w.-4.20 

~ ~ cB- maN ~ CBT (l=fTClT-fCmr) C1'$Fch~'i cBI ftran cB- m=cr 
crffeCblol -B ~ m~ J:fc=R CBT fclCJxOI 

~ ~ d'f~ !>ICFllfOlC15 ~~T !>ICFllfOlC15 ¥ ~ mefcPc:rr 
(N) (M) ~ (df) (SEd) 3~ RR: 

(SD) (CR) 

'CFITffi 20 146.55 5.50 mefcp 
38 2.55 0.196 3RR 

fQcrr 20 147.05 9.68 artt"% 

0.05 m~ ~ ~ '{il'{uTl ~ 2.02 
0.01m~ ~ ~ 'HlxoT) ~ -2.71 
't4~Cf>xol:- 

~ dl~CbI ~ ~ mm % I fcp ~ ~ cB- marx ~ cnr 
(l=fTClT fCmr) C1'$Fch~'j cfft ftran cB- m=cr 1ffeCbloi cB- ~ ffiiffiCb ~ (CR) CBT 

TfURT CGRT ~ l=fFf 0.196 % I 0.05 m~ ~ ~ 'H!xof! ~ 2.02 % I 

~ <:!5 ~ mm % I cfft ¢f) iffi Cb ~ cnr TfURT CGRT ~ l=fFf 'fIRUIr ~ 
~ ~ % I 3m: 0.05 m~ ~ ~ ~ qRCbC"4""11 em 6-B ,{'ClIClld ~ 

~I 

~ ~ cB- maN ~ Cf)T (l=fTClT-fCmr) C1'$Fch~'i cBI ftraTI cB- m=cr 

crffeCbl ° I ~ ~ m~ J:fc=R 'TIff % I 
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QRCb6'QGlI SIl. -1 8 

~ af?r cfi ffia:R ~ cpr (+mrr-fCmr) (>i'$Fch41 cBI man cfi -mfr 
c;:f&:: Cf)'1 0 1 if ~ x=rrcicn ~ -;ffiT % I 

mwr q RCfj 0F11 "CfJT LJfra-rur ~ ~ t LJfra-rur cpr ~ "Fch<:rr TmT % I ~ 
fclq,<ol A-9- dlf&tCfjI if ~~Ih'll TmT % I 

dlf&tCfjI ~ 4.21 

~ af?r cfi ffia:R ~ cpr (+mrr-fCmr) C1\$Fch41 cBI fuan cfi -mfr 
c;: f&:: Cf) 'I 0 I if x=rr~ 3fc:R "CfJT fcl q '< 0 1 - 

~ ~ Cff~ !>ICfllfOlC15 ~~T !>ICfllfOlC15 ?JfJ ~ mefCl5m 
(N) (M) ~ (dt) (SEd) 3~ RR" 

(SD) CR) 

'<FIlCIT 20 139.95 5,90· mefco 
38 1.996 0.75 3icR 

fQcrr 20 141.45 6.40 G!tt~ 

0.05 x=rr~ ~ -qx- xmuTt ~ 2.02 
0.01x=rrclcncn ~ -qx- x=JRUft ~ -2.71 
't4 ce'i Cfj '< 01:- 

mwr d 1 f&tCfjI ~ ~ 6Tm % fcp, ~ aT?f WaR ~ (+mrr 
fCmr) "CfJT C1 \$ Fch 4'i cBI fuan cfi -mfr c;: ~Cf)1 0 I cfi ~ ffi i RI Cfj ~ CR "CfJT 

TfUAT cc:RT ~ "J:fPf 0.75 ~ I 0.05 x=rr~ ~ -qx- '{il'<O~ ~ 2.02 % I ~ 

~ ~ ~ % I cBI ¢I1iRl Cb ~ "CfJT TfURf ccrm ~ liFT '{i I'<~ ~ ~ 

~ % I 3m: 0.05 ~ ~ -qx- ~ qRCfj0FlI Cf5T ~ '{:cI!Cltd ~ 

5Frr I 

PtliPtf: ~ aT?f cfi WaR ~ (lffilT-fiRrr) "CfJT (>i'$Fch41 cBI fuan cfi 
-mfr c;:Rc:Cf)1 0 I if ~ x=rr~ 3fc:R -;ffiT % I 
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